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< BRJA KR > 1 i

STEE | SR K4 S1 S2 S3 S4 S5 S6 #/R =1
1 22 EHLEY 102.3 | 1040 | 1044 | 105.1 | 1045 | 1041 | 624.4

2 23 2H W 100.8 | 101.0 | 100.3 | 103.0 | 100.8 | 102.0 | 607.9 1852.7
4 25 1R KR 103.1 | 102.4 | 1051 | 1051 | 102.1 | 102.6 | 620.4

< HAXE > 2 {iI

SR | SEE K& S1 S2 S3 S4 S5 S6 B/R =18
1 21 L7 JEE— B 101.8 | 1040 | 1035 | 101.1 | 103.6 | 1039 | 617.9

2 22 D - 102.4 | 1035 | 100.3 | 101.1 | 1044 | 102.8 | 6145 1843.8
4 23 IEEr thist 1004 | 1050 | 101.7 | 1047 | 995 100.1 | 611.4

< BIEKE > 3 {31

STEE | SR K4 S1 S2 S3 S4 S5 S6 /R =it
1 25 Wl 15 1039 | 1045 | 1015 [ 1005 | 103.3 | 1009 | 614.6

2 26 %k BF 99.9 99.3 101.8 | 103.0 | 1039 | 102.8 | 610.7 1842.6
4 27 EH thEE 102.4 | 102.8 | 1025 | 104.7 | 101.2 | 103.7 | 617.3

< R K > 4 i

STEE | SR K4 S1 S2 S3 S4 S5 S6 /R =it
1 20 =% =H 102.9 | 101.1 | 1028 | 1026 | 1009 | 103.7 | 614.0

2 21 —FHEeH 100.7 | 102.4 | 101.1 | 1044 | 101.7 | 102.0 | 612.3 1824.6
4 22 o RiE 98.9 102.4 | 99.6 99.4 99.7 98.3 | 598.3

< BREAXE > 5 i

STEE | HIEE K4 S1 S2 S3 S4 S5 S6 B/ &t

1 16 ARk SE 99.2 1006 | 101.4 [ 977 99.7 995 | 598.1

2 17 HE % 98.5 97.6 96.5 98.8 97.5 93.2 | 582.1 1798.8
4 19 mIEH 2B 1035 | 103.4 | 1039 | 101.1 | 103.2 | 1035 | 618.6

< BESRDXE > 6 i

STEE | BIEE K4 S1 S2 S3 S4 S5 S6 /R =18
1 19 I % 99.7 103.0 | 98.1 102.4 | 98.8 996 | 601.6

2 20 A &% 100.0 | 96.0 96.6 100.8 | 98.3 970 | 588.7 1717.7
4 21 IWiE B A 86.3 83.0 91.3 81.3 92.6 929 | 527.4

< ZFERERXE > 7 i

STEE | BIEE K4 S1 S2 S3 S4 S5 S6 /R =18
1 29 2F %= 85.9 98.2 93.4 96.4 97.9 97.7 | 5695

2 31 28 £3 91.6 95.5 98.5 99.9 96.7 960 | 578.2 17121
4 32 A £3 92.8 95.0 94.5 94.9 93.5 93.7 | 564.4




< HEXE > 8 i

STEE | BIRE K4 S1 S2 S3 S4 S5 S6 #BR =118
1 14 CTEEES 94.8 97.6 94.9 95.1 94.7 96.1 573.2

2 | 15 NEE3: 97.7 95.0 96.1 87.1 93.9 921 | 561.9 1689.4
4 16 O 98.2 95.9 89.6 93.6 90.2 86.8 | 554.3

< ILHKE > 9 {31

STEE | SR K4 S1 S2 S3 S4 S5 S6 #/R =1
1 17 ik EE 96.0 98.3 94.6 95.5 93.4 97.1 574.9

2 19 X BF 91.7 94.3 95.9 96.7 92.9 928 | 564.3 1662.0
4 20 BHEBEF 85.3 84.1 85.7 86.1 90.6 910 | 522.8

< EBKE > 10 fi

STEE | SR K4 S1 S2 S3 S4 S5 S6 #/R =1
1 24 5 EE 98.4 97.8 97.9 96.8 96.7 97.0 | 584.6

2 25 KB Witk 82.0 93.3 89.6 88.0 93.3 92.3 | 5385 1654.6
4 26 e BX 95.6 87.7 79.9 89.8 87.0 915 | 5315

< FEXRE > 11 fi

STEE | SR K4 S1 S2 S3 S4 S5 S6 #/R =1
1 31 Za e 87.6 96.2 96.2 95.0 94.9 97.1 567.0

2 32 MHE —# 88.9 85.6 83.5 89.4 97.5 944 | 539.3 1644.7
4 | 33 H BF 930 | 934 | 874 | 904 | 85.1 89.1 | 5384

< EniZE R > 12 {i

STEE | BIEE K4 S1 S2 S3 S4 S5 S6 B e =118

1 26 EiRX BE 84.9 93.3 86.8 85.0 85.7 846 | 520.3

2 27 SE HfA 94.2 91.9 93.7 88.9 93.6 89.7 | 552.0 1620.1
4 29 £k % 90.9 92.8 94.0 89.1 94.7 86.3 | 547.8




< FBWUERXE > 13 fi

STEE | BIRE K4 S1 S2 S3 S4 S5 S6 #BR =118

1 28 SR IEE 87.3 90.8 89.5 80.3 89.8 839 | 521.6

2 | 29 B &= 81.8 | 800 | 849 | 898 | 806 | 873 | 5044 | 1580.5
4 | 30 X #HhE 80.8 97.7 87.4 93.3 93.0 846 | 536.8

< HIEITERE > 14  fi

STEE | SR K4 S1 S2 S3 S4 S5 S6 #/R =1

1 30 FI BEA 71.5 75.9 84.1 88.0 84.9 795 | 483.9

2 13 2R B 89.6 65.5 87.0 79.8 85.0 855 | 492.4 1377.2
4 14 tkik BB 60.5 57.9 63.5 75.1 75.6 68.3 | 400.9

< fh 8 K > 15 fi

STEE | SR K4 S1 S2 S3 S4 S5 S6 #/R =1

2 30 HH &l 70.8 67.8 69.7 75.6 74.6 794 | 437.9

4 13 =8 EE 82.5 91.4 87.1 90.5 93.7 89.3 | 5345 1372.1
4 | 31 2H BE 69.3 69.0 59.9 59.9 76.2 65.4 | 399.7

< ZHIEXFE > i

STEE | SR K4 S1 S2 S3 S4 S5 S6 #/R =1

1 15 BA Fik 83.0 79.6 88.3 90.0 90.8 850 | 516.7

2 16 RiR E3} 88.2 88.7 90.3 87.7 91.9 93.3 | 540.1 DNS
4 17 g FEK DNS

< HB2RERXE > i ]

STEE | BIEE K4 S1 S2 S3 S4 S5 S6 B e =118

1 13 Iy S50 91.9 75.0 73.9 79.9 78.5 785 | 480.6

2 14 =G| DNS DNS
4 15 EM BHFE 91.9 91.0 98.4 88.6 94 1 941 557.5




